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Iz the cable
connected between
the port and terminal
equipment?

Loss of Signal . Loss of Frame
—QQOSS of Signal/Loss of Frame;\'

Llze the following commands to set
the correct framing:

confiqure terminal
controller £l x

framing {3F/ESF]

Mo

Does the framing
format on the port
match the format
of the line?

Zonnect the
cahle correctly.

Checkthe cable -

intearity and
pinouts.

Are the receiving
and transmitting
pairs reversed?

Setthe Rx pairto 1 and 2.
Setthe Tx pairto 4 and 4.

Try using a

K.

Yes

Change the line build out using
the cablelength {long | short}
command.

Cantactthe Telco.

F 3

rallover catile.

#Ed e

. T1 22X sliZ

-T1ZE EA 4
-T12F o|HE B siZ
- T1 PRI EM E =MT
.StE EqO RL YW EAE



//www.cisco.com/en/US/tech/tk713/tk628/technologies_tech_note09186a00800a5f40.shtml?referring_site=bodynav
//www.cisco.com/en/US/tech/tk713/tk628/technologies_tech_note09186a00800a70ff.shtml?referring_site=bodynav
//www.cisco.com/en/US/tech/tk713/tk628/technologies_tech_note09186a00800a4a64.shtml?referring_site=bodynav
//www.cisco.com/en/US/tech/tk713/tk628/technologies_tech_note09186a00800a754a.shtml?referring_site=bodynav
//www.cisco.com/en/US/tech/tk713/tk628/technologies_tech_note09186a00800a7599.shtml?referring_site=bodynav

	T1 레이어 1 문제 해결 순서도
	목차
	소개
	사전 요구 사항
	요구 사항
	사용되는 구성 요소
	표기 규칙

	순서도
	관련 정보


